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• N
• R+

• R
• X Y
• Pkc (X) := {∅ ̸= A ⊆ X : A }
• A A ⊆ X
• B Y

A B
(X, d) dH (A,B)

dH (A,B) = max

{
sup
x∈A

inf
y∈B

d (x, y) , sup
y∈B
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d (x, y)

}

dH CB (X)
(X, d) CB (X) X

u X [0, 1]
X

α ∈ (0, 1] [u]α := {x ∈ X : u (x) ≥ α} ∈ Pkc (X)
[u]0 := {x ∈ X : u (x) > 0}



XF X

X = R u : X → [0, 1]
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X α ∈

(0, 1] [u]α ∈ Pkc (X) α ∈ (0, 1]

[u]0 = [0, 0.4] = [0, 0.4] ,

u ∈ XF

XF

[a+ b]α = [a]α + [b]α

[k · a]α = k [a]α

a, b ∈ XF k ∈ R

D : XF ×XF → R+ ∪ {0}
D (a, b) = sup

α∈[0,1]
dH ([b]α , [b]α)

a, b ∈ XF dH
D (λa,λb) = |λ| ·D (a, b) λ ∈ R a, b ∈ XF

D (a+ c, b+ c) = D (a, b) a, b, c ∈ XF

D (a+ b, c+ d) ≤ D (a, c) +D (b, d) a, b, c, d ∈ XF

D XF XF

V f : V → XF

n ∈ N
2nf (x) = f (2nx)

x ∈ V
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